MSW Entrance Test

Section I: Objective type questions

All questions are compulsory question No. 1 to 50 carries one mark each (50 Marks)

Section: | (A) Multiple Choice Questions

1.

10.

1.

12.

13.

14.

15.

16.

Whois the inventer of the theory of relativity?
a) Tomas Alva Edison b) James Watt  c)Albert Einstein d) AryaBhatta

Chat GPT is an application of ?
a) Google b) Microsoft c) Artificial intelligence d) Infosys

Humandevelopment report isprepared by which of the following?
a) UNDP b) UNICEF ¢) WHO d) UNO

Which of the following place is associated with the birth of Gautama Buddha?
a) Sarnath b) Lumbini c) Gaya d) Varanasi

Which unit of the computer is considered as the brain of computer?
a) Hard disc b) Output unit ¢) Memory d) CPU

Who is known as the father of White Revolution in India?

a) VergheseKurien b) Sam Pitroda

c) HiralalChaudhuri d) M.S. Swaminathan

What is the next number in this sequence 4, 8,12, ............., 20?

a) 10 b) 16 c)18 d) 14

The Chipko movement is associated with ...
a) Transparency in public life b) Afforestation

c) Prevention of water pollution d) Social development

A man buys a cycle for Rs. 2000 and sells it at a loss of 15%. What is the selling price of the cycle?

a) Rs. 1300 b) Rs. 1160 c) Rs. 1700 d) Rs. 1500
Look at this series: 7,10, 8, 11,9, 12, ................... What number should come next?
a)7 b) 10 c) 12 d)13

‘SatyaShodhakSamaj’ was established by?
a) Keshab Chandra Sen  b) Ravindranath Tagore

c) JyotibaPhule d) Raja Rammohan Roy

Who led Mahad Satyagraha?

a) JyotibaPhule b) BabasahebAmbedkar

¢) Mahatma Gandhi d) VinobaBhave

Penisto poetasneedleisto ...........cocovieinenne.

a) Thread b) Button c) Sewing d) Tailor
How many phases was the India LokSabha Elections 2024 held in?
a) 5 Phasesb) 6 Phases c) 7 Phases d) 8 Phases
Which country has hosted the 2023 Cricket World Cup in ODI format?
a) Sri Lankab) India c) Australia d) New Zealand
Fill the blank in the middle of the series: SCD, TEF, UGH, .................. , WKL

a) CMN b) UJI c)VlJ d) JT
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India is NOT a member of which of the following global organization?
a)G-20 b) NATO c) SAARC d) U.N
Which word does NOT belong with the others?

a) Rupees b) Dollar c) Income tax d) Yen
Wimbledon championship is associated with which game?

a) Tennis b) Cricket c) Football d) Hockey
Which planet is known as the Red Planet?

a) Mars b) Venus c) Jupiter d) Saturn
Which is the highest civilian award in India?

a) Bharat Ratna b) Padma Vibhushan

c) Padma Bhushan d) Padma Shri

Which city is known as the IT capital of India?

a) Chennai b) Hyderabad c) Bangalore  d) Pune
Who was the first Indian to go into space?

a) Rakesh Sharma b) KalpanaChawla

c¢) Sunita Williams d)Dr. AP J Abdul Kalam

Who was the founder of the Maurya Empire in ancient India?

a) Chandragupta Maurya b) Ashoka

c) Bindusara d) Akbar

Which type of democracy does India follow?

a) Direct democracy b) Parliamentary democracy

c) Presidential democracy d) Authoritarian democracy
Who appoints the Chief Election Commissioner of India?

a) President of India b) Prime Minister of India

c) Chief Justice of India d) Speaker of LokSabha

The Quit India Movement was launched in which year?

a) 1919 b) 1922 c) 1942 d) 1947
The ancient Indian text "Arthashastra" was written by:

a) Kalidasa b) Chanakya c) Valmiki d) Vatsyayana
From where was ‘Chandrayaan-3’ lunar mission launched?

a) SDSC - Sriharikota b) VSSC - Thiruvananthapuram

c) Dr.AbdulKalam Island — Odisha d) LPSC — Tirunelveli

What is the goal of the BetiBachaoBetiPadhao scheme?

a) To provide scholarships for higher education

b) To improve the child sex ratio and promote girls' education
c) To reduce child labor

d) To enhance sports facilities for girls

What does GDP stand for?
a) Gross Domestic Product b) General Domestic Price
c) Gross Development Plan d) General Development Product

Which of the following is an antisocial element?
a) Clique b) Crowd c) Organised group d) Gang
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Section: | (B) Fill in the blanks
33.
34.

35.
36.
37.
38.
39.
40.

41.

42.

is known as the father of modern psychology
a) Sigmund Freud b) Karl Marx c) Tolstoy d) Mahatma Gandhi

is NOT the part of Panchayat Raj
a) Municipal Corporation b) ZilaParishad
c) PanchayatSamiti d) Gram panchayat

India defeated to win the T20 World Cup final in 2024
a) Australia b) Pakistan c) England d) South Africa

The longest river in India is .
a) Ganga b) Yamuna c) Brahmaputra d) Godavari

is the upper house of India's Parliament.
a) LokSabha b) RajyaSabha c) VidhanSabhad) VidhanParishad

The Reserve Bank of India was established in the year .
a) 1935 b) 1947 c) 1950 d) 1965

NEP was introduced in the year .
a) 2018 b) 2020 c) 2022 d)2024

The is not from the north east region.
a) Arunachal Pradesh b) Manipur c) Tripura d) Himachal Pradesh

MurlidharDevidasAmte, popularly known as Baba Amte, was an Indian social worker and social activist
known particularly for his work for the rehabilitation and empowerment of people suffering
from

a) Leprosy . b) TB c)HIV d) Cancer
Operation Flood is related to .
a) Milk cooperatives b) Pulses cooperatives

c) Cereals cooperatives d) None of the above

Section: | (C) Match the following
Match the following festivals with the different states in India

43.
44.
45.
46.

Ganapati Festival a) Punjab
Baisakhi b) Kerala
Onam ¢) Tamil Nadu
Pongal d) Maharashtra

ANS: 41-D, 42-A, 43- B, 44-C

Match the following personalities with their respective fields

47.
48.
49.
50.

Mother Teresa a) Literature
Albert Einstine b) Sports
William Shakespeare c) Social Service
Milkha Singh d) Scientist

(Answers: 45-c, 46-d, 47-a, 48- b)



former :1 (B) Rerar Smem smy

33.

34.

35.

36.

37.

38.

39.

40.

41.

42,

i1 YTl AFHATE Seleh FgUl @ T
3 (Res wras (ST AFT  (FcloTeld (3HETCAT el
& AT ST ST ATEY
3 (ARGl (STTel 9RYE & (Tardd affdr (sTmHITTId
03y HEfel T20 faRETETh HITHEY HRAW T AT el
37 (3reeforr g (NfFpeasT  (FEIes (3cfaroT 3MTiReRT
HRATATS FaTd oid s1er 3R
37 (I g (AT (FeEAgT g (IMerar
& ARAT FHCY aRTS FHEE IR
37 (el @ (T T (FfaurT e 3 (foumer it
Rercg o 3w ooy @mgar ~ grelr Se
37 (2239 (S2R%L ¢8R40 (h 3 2R&€Y (
31 grell A4 IO UROT 3FETT 3T,
3T 08¢ ( (IRoRw (RN T 03 (
g ST AT YSeATATeT =TEr.

3 (U Yo (SATOIGY (CaEEEy (sfeaATae weRr

THHR AT e ehd 3O ST ehcd. HIGTER Sfagr 3MHE S a1eT A A1 A1d 9
S fRIVE: _ I%d diehiedr gAdad 3O HETHonaSr 3ede SIand
3 (P (ST & (TIAISE  (SHehaT

JTRLA Fols ot Tefara 3me.
I QY HEHN HEAT T (FSUTT HghT FEAT
F (JUTIY TEHNT TEAT g (Glerddr FEET e

a7 21 (C) WrelteT Sfesar
Trellel HOT ARl fafaer yeamel asar

43. 0AT 3T (3T9STTe

44. SaTEY g (IS

45. 30TH (AT ABAT

46. Gt 3 (HABRTSE

Grelrel cafFdfccardl caiear Haftd &l Jaargsd &
47. AT AT (@raTfeeT

48. 37eSC TSECTS ¥ (T

49. fGegd AR & (FHATSHAT

50. fe@r /& g (AT



Section Il (A) : English Language Test

In the following passage, at certain points you are given a choice of four words, one of
which fits the meaning of the passage. Tick the option which you think is most suitable at the

point. (05 marks)
(1) e name of my country is Bharat. It (2) ....... also called Hindustan. It is (3) ......... motherland. (4)
................ in South Asia’s heartland, India is a densely populated country. India (5) ............... its borders

with countries like Pakistan, China, Nepal, Sri Lanka.

1. 2. 3. 4. 5.

a. The a.was a. mine a. based a. holds

b. A b. can b. his b. situated b. positioned
c. An C.is c. all c. found c. shares

d. My d. will d. our d. seen d. combines

Section-ll (B) Rewrite the following sentence

i.  The scool Principle will visit the class tommorrow.

ii.  The dog barked at the postman he must have been frightened

iii. It was too late, for Sunil to come over, but, Suraj asked him anyway.

iv.  We asked the man for derections to the store, but he don’t know where it’s at.

v. My Mother is the best mother in the world she is kind to evereyone.




\ Section lll: Essay type questions

Q.1Write an essay on any one of the following (10 marks)in about 500 words [10 Marks]
TS UP! HIURATE U fawamaR gAR woo e Faafes

a. Youth culture today (TSTa gaT F¥axin)

b. Impact of Covid-19 on education (P1fds-9< TIfIreromaRaroTRT afkom)

¢. Drug addiction as a discase(3H! TeTAi SR UH MTR)



